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o 23 72| Soow | 7reare | oeoren | 283% [ wum
1| adtBRS 0|4
2 | a-3.2&3=2e3¥ L=1.1km
3| a-3-1-1.42U=S0/4 R25~29 514,986 400,853 457,919 457,919 Bog
4 | a-3-1-2.4&L20/4l R30~34 625,734 487,057 556,395 556,395 Bog
5| a-4.922R8E 22 L=2.4km N
6 | a-4-1-1.£US0/4 R25~29 516,184 401,786 458,984 458,984 Bog
7| a-4-1-2.4L1820/4] R30~34 627,824 488,685 558,253 558,253 Bog
8 | a-4-1-3.2L20/4! R35~39 696,560 542,187 619,373 619,373 Bolg
( 9 | a~4-1-4.2L20/4 R45~49 982,677 764,894 873,784 873,784 Bog
10 | a-5. 2238 L=0.23km -
11| a-4-1-1.£L120/ 4l R25~29 514,844 400,743 457,793 457,793 Bog
12 | a-4-1-2.ALI20(4l R30~34 625,486 486,864 556,175 556,175 gog
13 | a-4-2-1.%LI20(4l R10~11 157,213 122,370 139,790 139,790 Bog
14 | a-4-2-2.FL20/ Al R12~14 201,398 156,763 179,080 179,080 Bog
15 | a-4-2-3.%LI20/4l R15~17 257,189 200,190 228,689 228,689 Bog
16 | b.4EmS0|4
17 | b-2. 322 L=0.23km
18 | b-2-1-1.=EIL42 R18~19 307,816 239,596 273,705 273,705 Bog
19 | b-2-1-2.=EILIZ R20~24 361,254 281,191 321,221 321,221 Bog
20 | b-2-1-3.=EILIR R30~34 618,828 481,682 550,255 550,255 Bog
21 | b-2-2-1.01ELIZ R12~14 201,398 156,763 179,080 179,080 Bog
22 | b-2-2-2,0|BLIR R15~17 257,189 200,190 228,689 228,689 Bog
23 | b-2-2-3.01ELIZ R18~19 307,816 239,596 273,705 278,705 gog
24 | b-2-2-4.0|BLIZR R20~24 361,254 281,191 321,221 321,221 gog
( 25 | b-2-3-1.MEU=R R8~9 116,422 90,619 103,519 103,519 gog
| 26 | b-2-3-2.msU= R12~14 201,398 156,763 179,080 179,080 gog
27 | b-2-3-3.MEU=R R156~17 257,189 200,190 228,689 228,689 gog
28 | b-2-4-1.&37UR R8~9 116,422 90,619 103,519 103,519 golg
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e e . %?o;ﬁ 77.837% EB_.J; g% | HEBSH BiD
29 b-2-4-2 &322 R10~11 157,213 122,370 139,790 189,790 goE
30 b-2-4-3. 432 R12~14 201,398 156,763 179,080 179,080 o
31 b-2-4-4 &4 3L R15~17 257,189 200,190 228,689 228,689 gog
32 b-2-5-1. MY LIS R12~14 201,398 156,763 179,080 179,080 gos
33 b-2-5-2 4RI LR R15~17 257,189 200,190 228,689 228,689 goE
34 b-2-5-3. &I LI R R18~19 307,816 239,596 273,705 273,705 gog
35 b—-2-5-4 AL 2 R20~24 361,254 281,191 321,221 321,221 BEog
36 b-2-6-1.2UHLI2 R10~11 157,213 122,370 139,790 139,790 gos
37 | b-2-6-2.mHLIS R12~14 201,398 | 156,763 | 179080 | 179,080 | meas
38 b-2-6-3. B HHLIZ R15~17 257,189 200,190 228,689 228,689 B
39 b-2-6-4 EHILIS R18~19 307,816 239,596 273,705 273,705 gos
40 b-2-7-1.2XJIUR R6~7 74,741 58,176 66,457 66,457 goE
41 b-2-7-2.2X0|UR R8~9 116,422 90,619 103,519 103,519 o
42 b-2-7-3.=2XJ|IU R R10~11 157,213 122,370 139,790 139,790 ==
43 b-2-7-3-1.2X2J|UL [R10~11(2EHd] M) 117,588 91,526 104,556 104,556 gog
44 b-2-7-4. 2} J|L} 2 R12~14 201,398 156,763 179,080 179,080 BHog
45 b-2-7-4-1.2XJ|LI2 [R12~14(2EHd| HI<2) 154,473 120,237 137,354 137,354 o
46 b-2-7-5. 2|2 R15~17 257,189 200,190 228,689 228,689 g
47 b-2-8-1.2tLI& R12~14 201,398 156,763 179,080 179,080 gos
48 b-2-8-2.2 L2 R15~17 257,189 200,190 228,689 228,689 goE
49 b-2-8-3.2Z Lt R20~24 361,254 281,191 321,221 321,221 o
50 b-2-9-1.4=5 R4 43,618 33,949 38,783 38,783 goE
51 b-2-9-2.4t=8 R5 47,642 37,082 42,362 42,362 gos
52 b—2-9-3.6t53 R6~7 74,741 58,176 66,457 66,457 o
53 b-2-9-3-1.4t=51 RE6~7(2YHH| HI2l) 61,267 47,688 54,477 54,477 g
54 b-2-9-4 4t=8 R8~9 116,422 90,619 103,519 103,519 gos
55 b-2-9-4-1 .45 RB8~9(2YHH| HI2l) 97,651 76,008 86,829 86,829 gaosg
56 b-2-9-5.482=8 FHO""H 167,213 122,370 139,790 139,790 gos
&7 b-2-9-6.6=8 R12~14 201,398 156,763 179,080 179,080 gaos
58 b-2-10-1.4F=UL R8~9 116,422 90,619 103,519 103,519 gos
59 b-2-10-2.0HFL R10~11 157,213 122,370 139,790 139,790 gog
60 b-2-10-3.04F=LI2 R12~14 201,398 156,763 179,080 179,080 gos
61 b-2-10-4.04F=LI 2 R15~17 257,189 200,190 228,689 228,689 gos
62 b-2-11-1.0|24tE R6~7 74,741 58,176 66,457 66,457 gos
63 b-2-11-1-1.0|1=Z&tE | RE~7(2EHH| HI2!) 61,267 47,688 54,477 54,477 o=
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64 b-2-11-2.0| 24tE R8~9 116,422 90,619 103,519 103,519 gos
65 b-2-11-2-1.01=2 &€ | R8~O(2EHH| HILl) 97,651 76,008 86,829 86,829 gz
66 b-2-11-3.0124AtE R10~11 157,213 122,370 139,790 189,790 goE
67 b-2-11-3-1.0|=2 42 |R10~11(2EHH| X 2!) 117,588 91,526 104,556 104,556 gos
68 b-2-11-4.0|24AtE R12~14 201,398 156,763 179,080 179,080 gos
69 b-2-12—-1.0 8L R12 201,398 156,763 179,080 179,080 goE
70 b-2-13-1. g% U R15 257,189 200,190 228,689 228,689 gos
71 b=2=14—1.AAILLSR R6~7 74,741 58,176 66,457 66,457 goE
72 b-2-14—1.&LAIHLIR R6~7(2HH| H2l) 61,267 47,688 54,477 54,477 goE
73 b-2-14-2. &AL R8~9 116,422 90,619 103,519 103,519 o s
74 b-2-14-2-1 &HAILESR | R8~Q(28HHI HI2l) 97,651 76,008 86,829 86,829 gog
75 b-2-14-3.8LAILISR R10~11 157,213 122,370 139,790 189,790 goEs
76 b-2-14-3-1 . &AILLR [R10~11(2EHH] X 2!) 117,588 91,526 104,556 104,556 Beg
77 | cuems
78 | c-1.228 R6 74,741 58,176 66,457 66,457 | wos
79 c-2. 320/ 4l h=0.3~0.7 6,631 5,160 5,895 5,895 8oz
80 c-3. 2S04 h=0.8~1.1 10,145 7,895 9,019 9,019 gos
81 c-4.#=0|4 h=1.2~1.5 14,867 11,571 13,218 13,218 gz
82 | d.014 202
83 d-1.22&&AH 23,218F 1,836,054 1,429,146 1,632,600 1,632,600 goE
84 d-2. &2&&H =2 1427F 6,583,980 5,124,837 5,854,408 5,854,408 gos
85 d-3. SN MM A X 15,2185 124,982 97,282 111,181 111,131 goEg
86 d-4.&4EH AT n=2,218F 331,292 257,870 294,580 294,580 gos
87 d-5. &S HAXT S, 1427F 15,902 12,376 14,138 14,138 gos
88 d-6.2== nE,218F 756,469 588,820 672,644 672,644 gos
89 d-7.2t= S, 1427F 173,478 135,030 154,253 154,253 gog
90 a-5.AF= A0=Y 4,677 3,639 4,158 4,158 gog
91 b-2. EAMEH 980 770 880 880 goe
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